O6PE112

1: 2, 5004852

y

=ERHEHR

TV

2 JLHB

-153.0 |

-153.5

-154.0

-154.5

-153.0

®/

/

I

ﬁ

n

Ll

#*

i

(TP .
191.9 \,
I8 1|6 O 75 27
ST
0
ilagEdil
T /’I’\‘\‘\‘\‘\‘W
N = A= ﬁﬁﬁﬂ%ﬁﬁﬁ\i
l k=, 9 .
,/ 19;4\' ‘; C_/_'/‘
.4 7J<B)5§EE\S<'DH/ .-
-153.5

>

B

- 196.5

BIAERS

yaul

/

s

L ERy

’a ; 4 ~154.0

-154.5

<
«©
+

Eg 20408 2 . BH BEI12E
Y 24F 8B IE 2. & 64 97
T H 30 1B E
S 6FEBE

—

&
BiheEE

1

50 100 200

:2.500

300

400

500m

[COREMRE. BEEREDHEZRIITEZENTH .
EB=ES) S08M%5663]

sTEI#ES
EE -4

ZERMETRAEEHES

KETOZILHE
AR BFEERHFERE

PEOTS3

PEO14

PEO23

PET11

PET12

PET21

PET13

PET14

PE123

= —
20 =]
(1] ween | a372 = & &
B12.04 K ¥ A
— ] E5°=Y o148 2 BmE
.
. \ $25.6  EoCELRY
T mamas
******** 187 = {68
. R =
Tl mromus K18 mrz=es
. 5 = =
H Fe # . P
H = i 4] B F9
+ Fz S oo B B
X = B oA = 7
P = 2 & g w B
X = = o 2, ]
v o B o SHEE » 7R3
® BB - gos >
el T 5 L = il
e = B A (! £ 2 ®
© 2 = L BRI
x Ko E T hvi &
~ 15 - Hokis Q4 VI
O BEEFRU o 2 = %
tOE - ’ o
v B A B R &
A B B © g v 7
S BB o= @ K 8
¥ mHeEs & K7 &
® - 2 B E M
a B kv o=
vV ~ L
m Z AR — LA 7 O
g iR = " DQ . DD
Bx=zER S =
@ (D-95) Di S
® & @ & e ERR-AE
® BEEs R MR ES
@ -, )22 KSHRESR
#os B g 5 &
) HIUVAIIR . B
5= 5
® s | D, &
EiEE (X =@ % oE
o % & )
_______ }EE%% %%iﬂﬁ
——————— ® 5 =& — R =
T gsuknea
T — _ BEERPOEs RUERB
— — 5B HF S BiE (D)
— 1
L EWSEE ——— pEOTEL:
= wpmmns HEDSES
ey * = 8 &
T T4 nTE —o—— X B iR
£ B A O
fffff R 8 R
W)\Iﬂﬁ ,,,,,,,,,,,,, m o =
e T 12 — ¥ o 8]

BT - EEAD

—~—— g FER ——— T

—_— M B ———— AZ.H-TER
§ m|° wpE| VY =
1" o ¥
v | o Zofo | 1 (AN
| I I i
N LD - v "
RER: Z i ) V| R VAt
o I3y Q JA "~
I T I =R Lot
Y = am| N it E| o | PLE
® Mo . e w
Y A T
T
% /@ oo L R Ot
T

wnet

B S
ARHE D
FheiE ShTH

R AFEESBE SR BNSOREICSD
P VL R (SRR C D

BRAIEX L) LA

K0 L CHDEARETFOA—)LEAL
SIRIFO. 5FOX—R/LER

B OEEITRRBDFEE
ESFOERId 2 A —H)L

O6PE112



